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Section 9.1 
6)    Show y is a solution. 
14)     
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Section 9.2 
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8)     ( )21y C x= +

20)     y x=

34)    ky x=  
 
Section 9.3 
2)    12,500 bacteria 
4)    4.75 years 
6)    6.9 years 
8)     ;     57 C 0.186530 70 tT e−= + .5
10)    68.75 words/minute 
14)    $13,550 
 
Section 10.1 
4)    Show is a probability function 
6)     Show is a probability function. 
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Section 10.1 (con’t) 
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Section 11.1 
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Section 11.2 
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Section 11.3 
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4) P (x) 1 (x 2)

P (x) 1 (x 2) (x 2)

P (x) 1 (x 2) (x 2) (x 2)

= − + + − + + +2 3
312) P (x) 1 5(x 1) 10(x 1) 10(x 1)
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Section 11.5 
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2) 2;   converges on 2,2
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8) 0;  converges only at 0

10) 1; converges on 1,1
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Section 11.6 
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